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SECTION -1 (15 M)
5
1 Name the following:

al The genotypic matio of a monohybrid cross is
1y 1:3:0
2) X1
1:2:]

4) 9:3:3:1

L B

h) Any heritable feature of an organism,
1) Gene
2) Allele
3) Variation

)J/C haracter

¢) State of the cell where cell cannot absorb waler.
1) Turgidity

2 Turgid

3) Flaccid
4) Flaccidity

d) Oozing out of cell sap through the cut parts of the plant mainly through stem.
)/{ Bleeding in plants
2) Gutation
3) Adhesion
4) Cohesion
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b The splining of water molecules in 1ha
towas in the grana

presance of lght into hydrogen lons and by droxyt

b Phtolysis

20 Phoropin wphory bl
) Transpiration

4 BEvaporstion

Q. 2 Complete the follow ing:

a) The chromosome nuimber is

1)

-

_in melosis
I'mpled

A Reduced
3) Doubled
4) Not changed
b) A character that is suppressed is
1) Dominant
)’3 Recessive
3) Autosomes

4) Neither dominant nor recessive

€) Raisip swells up when keptin solution,
/ Hypotonic
2) Hypertonic
3) Isotonic

4) Both hypertonic and isotonic

d) The minute

)/)/ Stomata

pores on the epidermis of the leaf are known as

2) Stroma
3) Chlorophyil
4) Hydathode
€) The by product of photosynthesis is

1) Glucose

2) Starch
) Oxygen

_—

4) Both starch and glucose

%)



N Choose the correct frovm each of the Tollowing:

a) During welophase the
1} Nuchear membimne (& Tonmned

1) Nuclevlus reappenn
1) Astral ray disappears
A All of these

b) The organism on which Gregor mendel had worked
) Pisum yativim
2) Mangifera indica
3) Rama tigrina
4) Bisron hitularia

¢) Marine fish when thrown under tap water bursts because of

1) Exosmosis
2) Diffusion

3) Plasmolysis
\77{ Endosmosis

d) The chemical used in transpiration experiment is
1) Calcium chloride
2) Manganese dioxide
H Cobalt chloride
4) Potassium Chloride

¢) Full form of NADP
1) Nicotinamide adenine dinucleotide phosphorous
}'f Nicotinamide adenine dinucleotide phosphate
3) Nicotinamide and dinucleotide phosphate

4) Nicotinamide adenosine dinucleotide phosphate

(3)



Q4 Explain the following serms)

(5)
al Ustokinesis-

I animal coll o cell plme s formmed in (he venire of ihe cell grows towords the
poriphary amd divide the ool into P med I plant cell & constriation forms oo the cell

membrane periphery ) and grows towards the centre and divide the cell in 1o two
¥ Mant oell o cell plste Is formed In the centre of the ceoll grows towaetinthe periphery

and divide the cell into two and In animal cell & constriction forms on the cell

membrane( periphery ) and grows towards the centre and divide the cell in to I“I'
1) In plant cell a coll plate is formed in the periphery of the cell grows towards the centre

and divide the cell into two and In animal cell a constriction farms on the cell

membrane(periphery ) and grows towards the centre and divide the cell in to two.
4) In plant cell o cell plate is formed In the centre of the cell grows towards the periphery

and divide the cell imo two and in anlmal cell 8 constriction forms on the centre sos

grows towanrds the periphery and divide the cell into two.

b) Law of independent assortment:
1) Out of a pair of contrasting charncters no one s able 1o express.

2) Two members of a pair of factors separate during the formation of gametes.
3 Out of two pairs of contrasting characters, the distribution of one pair into gamele is

independent to the distribution of other pair into gamete. :
4) Out of a pair of contrasting characters one is able 1o express and the other one is

suppressed

¢) Root SSUre-
Pressure exerted due 1o alternate osmosis and diffusion of root hair cells and cortical

cells whereby water enter into the xylem of the root from the soil which helps in

ascent of sap
2) Pressure exerted due to alternate turgidity and flaccidity of root hair cells and cortical

cells whereby water enter into the phloem of the root from the soil which helps in

ascent of sap.
3) Pressure exerted due to alternate turgidity and flaccidity of root hair cells and cortical

cells whereby water enter into the xylem and phloem of the root from the soil which
helps in ascent of sap.

4) Pressure exerted due to alternate turgidity and flaccidity of root hair cells and cortical
cells whereby water enter into the xylem of the root from the soil which helps in

ascent of sap.



NI RL O E hic
/{I‘ he moleculinr attrsction by which the panicies of the hody wre uni o

s
el

3 ‘v“‘l‘h““}- ol walier "“d'_\‘;“‘:. [T .Hdﬁ Truwine ihvin s e (Tl ihe lﬁll’ cells

1) Mresaure exerted by the well wall on the Muld contents af tha ekt sl

d) Owring out of cell sap through the wul parts of the plant mainly ihrough

) Transiooat o
1) Transport of food materials in the form of insoluble sugar from

paris of the plant body by phloem
2) Transport of food materials in the form ol soluble sugnr from
of the plant body by xylem
1) Transport of food materials in the form of soluble sug
plant body 1o leaves by phloem,
Transport of food materinls in the form of soluble sug
of the plant body by phloem.

jeaves 1o I“ﬂ'l'rm‘l
jeaves 1o diffcrent pans
ar from different parts of the

ar from leaves o different pans

(3)
Q. 5 ldentify the exact location of the following:

a) Centrogome
)A)Cytnplasm of the animal cell.

2) Cytoplasm of the plant cell.
3) Cytoplasm of the plant ¢ell and animal cell.
4) None.

b) Lenticel
1) On the Epidermis of leaves.
2) Waxy layer above the epidermis of leaves.
3) Extension from epidermal cell of the root.
On the surface of old stem.
c) Grana
Inside the chloroplast.
2) Inside the chlorophyll.
3) On the walls of thylakoids.

4) Below the upper epidermis of leaves.



b Palisade vissw
1y O the mscgin ol leaves
b Betweon the upper opldenmis amnd spongy mesopliyll of leaves
Uy Abaove the apsper epidanmis ol loaves
Ay Derween vutiele aimd lower eplilenviis

el Cialicle
1) Waxy layer only on the margin of leaves
23 Waxy laver around mesophyll cells
Waxy lnver above the epidermis of leaves

4) Waxy layer below the stem

. 6 Sitnte the function for the follow ing!
a) Centromere

) Hold the chromatids of chromosome in position.
2) Hold the chromosome in position
3) Imbates cell division in animal gell.
4) Initiates cell division in plant celk

b) Root hair

1) Absorbs only minerals.
A Absorb water and minerals from the soil.
3) Absorb only water from the soil.
4) Absorb only minerals from the soil.

¢) Chlorophyll

1) Traps sunlight for respiration.

2) Traps sunlight for photosynthesis and respiration.
3) Traps carbon dioxide for photosynthesis.

/ﬂ’ Traps sunlight for photosynthesis.

d) Stroma
/H/Site for dark reaction.
2) Site for light reaction.
3) Site for both dark reaction and light reaction.

4) Site for neither dark reaction nor light reaction.

(5



wi Hivilathasles « out foe gottation
13 The pewres through whioh Both wster vapour s wales droplts som

L] UG
23 The pores thioagh which waler droplets come ;i Fiwr VEmnagy

. by
)( Ihe powes through which witer dioplets come oul Tor UL AL
o
4) The pores Through w Wich water vapour coimne ol Tor guiiatl

performed o demonstrate a particular

Q.7 The figure given below represents an experiment ($)

aspect of photosynthesis.

a) Identify the aim of experiment
AJ To show that COa is necessary for photosynthesis.
2) To show that chlorophyll is necessary for photosynthesis.
3) To show that O3 is necessary for photosynthesis.
4) To show that sunlight is necessary for photosynthesis.

b) Label part marked x
1) KOH for releasing COs.
/2)' KOH for absorbing CO,.
3) KOH for absorbing N,
4) KOH for absorbing 0.



aftes testing with foding solion
e hlack
we hlnck

o) Yeour obssrywtion for pant Intelled A & 1Y
/ﬁ ADoes it bowonw Whie bhack, 10 Doconws
21 A-Nevore Blue black, ih Dioes nod becomes bl

1) A Decoine pink, 11 Thecmes hiue hlack

60 A Decome blie black, 13- Becames plivk.
in terms of the end products.

&) Name the process which |s reverse of photoay nthesis

1) Transpiration
2) Both ranspiration and respiration

/1} Respiration
4) Nesther transpiration nof respiration

¢) Identify the overall chemical equation for the process phmmynuwnh.

_))4!11:* 12H:0 _Ught & Chiorophyl_ ¢ 1304 + ﬁt,u + 60y

2) 600+ 12H,0  SNorophvll o GgH1:06 1 6H20 3 601

- o h ; ¥

3) 003+ 12H:0 - eht & Chiorophvll 2y - 41,040+ 610 + O:

4) 6C0y+6H0 Light & Chiorophyll_ 6 H 2,04 + 6H20 + 602

. 8 i
Q. 8 Observe the diagram and answer the following questions:




by Label parts p, g & ¢t
1) p - contriola, g - Aster ani - Chiomatid

2 p e Aster, g - Chromatid and i ventrinle
e Chromatid, g - centriole and r- Aster
'}/ p e Aster, g - centriole and Chiromatld

¢) Name the stage prior (o this stage
1) Telophase
) Sletaphase
1) Prophase
4) Anaphase

d) Name the unit of heredity
Gene
2) Allele.
3) Character.
4) Spindle

¢) Give full form of DNA
1) Dioxy-ribonucleic ucw.

y-ﬁhonuclcic acid
Deoxy-ribonueleic acid.
4) None. :
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